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= 6.900 6.90 m
T-3 88 6.900m x 1.206t/m = 8.321 8.32 t
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T—3 0B ERR 3-1 = 2 2 &R
T3 T 7.900m x 2 = 15.800 15.80 m
=358 EIFT = 1.200 1.20 m
T3 0REERE 1.500m — 0.010m = 1.490 1.49 m
T3 HEEERE 6.900m — 1.490m = 5.410 541 m
=358 T 7.900m + 1.490m x 4 = 13.860 13.86 m
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AV B U 2500 , 4ME 2.538 m
HEHIE H= 7910 m
EAfEHIER | #EHIE-EJER = 7.910-0.050 7.860 m
EBEULLE 300mm <iEsirtig/3 =  7.860 m
AR, BRUES = BXETF30cm ~ BEETET
BERU BHIR - I ER - RIESE - #HRE
= 7.910-1.500-4.880—-0.300 = 1.230m
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PEBRAFL = n/4x2.1207"2x1.230 = -4.342
WETE i = 1.70 1.70 m3
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= = 4.880m
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PERRBRAE = n/4x0.31072x0.275x1.0 = -0.021
ERRRAE = n/4x0.21672x0.275%1.0 = -0.010
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ZBRATIL = n/4x2.12072x4.880 = -17.226
1)) -hRiESE it = 6.70 6.70 m3
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